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ɪෂය:- .Ks;h 

fY%AƝය :- 10 ieliqu:- K.M.U.S.nxvdr  

           lE/foys/ fkõiañh¾ by< u.ú 

සƯය :- 35 

 

ksoiqk 1 – 

 -3x +2 ≥  -7 wiudk;djh úi|d 

I. x .; yels mQ¾K ixLHd l=,lh ,shkak' 
{…, -2,-1,0,1,2,3 } 

II. x .; yels mQ¾K ixLHd l=,lh ixLHd f¾Ldjk ksrEmKh lrkak' 
 
 
 

III. x .; yels ish¨ ixLHd l=,lh ixLHd f¾Ldjk ksrEmKh lrkak' 

 
   .Ks;h II fm< fmdf;a  79  msgqfõ 25.1 wNHdYfha .eg¿ úi|uq' 

  ksoiqk 2 -         

       y  > 2                                     x ≥ 3                                    y>x                                      y  ≤ x 

                                

   .Ks;h II fm< fmdf;a  82  msgqfõ 25.2  wNHdYh yd 85 msgqfõ 25.3wNHdYfha .eg¿ úi|uq' 

 

 

2 

X 

y  

3 X 

y  

X 

y 

 

X 

y 

úi÷u :-     -3x+2 -2≥-7-2 

                                    -3x  ≥ -9 
−3x

−3
≤

−9

−3
 

                                   x≤3 
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